
for detailed product information visit:  for detailed product information visit:  adirides.comadirides.com  

User Inspired Designs Since 1990 

Accessible Designs, Inc.  Ë  401 Isom Road, Suite 520  Ë  San Antonio, Texas 78216  USA 

p: 210.341.0008  Ë  f: 210.341.0009  Ë  t: 888.684.2234  Ë  e: cs@adirides.com 

Direct Mount Para Lever Disc Brake  

Installation for the Quickie Iris 

Tools Required: 

 
1. Adjustable ñcrecentò wrench dapable of 1 1/8ò 

2. 3/8ò Ratchet 

3. 3/8 Drive Socketsð1/2ò and 3/4ò sizes 

4. 1/2ò Open End Wrench 

5. Allen (hex) Wrenchesð4mm, 5mm, and 1/4ò sizes 

6. Box Cutter or Razor 

7. T27 Torx Wrench (star) 

 

Kit Includes: 

 
1. (2) 160mm disc with (6) 5mm torx screws 

2. (2) Direct Mount Wheels 

3. (2) Axle Spindles with 1/2-2ï locknuts 

4. (3/4) Wave Washers 

5. (1) Left Caliper Adapter Plate 

6. (1) Right Caliper Adapter Plate 

7. (4) 5/16-24 x 2 1/4 bolts 

8. (2) Calipers (Sun/Hayes) 

9. Left and Right Locking Hand Levers (7/8ò 

tube) 

10. (2) Brake Cables, Housing, and Ferrules 

(ends) 

11. (4) 6mm bolts and washers 



22  

User Inspired Designs Since 1990 

Accessible Designs, Inc.  Ë  401 Isom Road, Suite 520  Ë  San Antonio, Texas 78216  USA 

p: 210.341.0008  Ë  f: 210.341.0009  Ë  t: 888.684.2234  Ë  e: cs@adirides.com 

Direct Mount Para Lever Disc Brake  

Installation for the Quickie Iris 

Directions: 

 
1. Determine permanent position of chair (ie. Center of gravity, seat height, 

etc.) with end user before brake installation. 

2. Block up chair by the camber tube.  Work on one side at a time. 

3. Remove wheel and loosen 3/4-16 nut from axle sleeve (image 1). 

4. Remove axle sleeve. 

5. With 1/2ò socket and 1/2ò wrench, remove the stock 5/16 bolts from the 

axle bracket (image 2). 

6. Place caliper adapter plate on the outside of the stock axle bracket and 

loosely install the longer 5/16 x 2 1/4 bolts supplied (image 3). 

7. Thread in the supplied spindle leaving 7 or 8 threads exposed. 

8. Place wave washer over spindle.  Using the stock 3/4-16 nut, tighten over 

spindle.  There should be approximately 2 or 3 threads exposed (images  4 

and 5). 

Image 1 

Image 2 

Image 3 

Image 4 Image 5 



22  

User Inspired Designs Since 1990 

Accessible Designs, Inc.  Ë  401 Isom Road, Suite 520  Ë  San Antonio, Texas 78216  USA 

p: 210.341.0008  Ë  f: 210.341.0009  Ë  t: 888.684.2234  Ë  e: cs@adirides.com 

Direct Mount Para Lever Disc Brake  

Installation for the Quickie Iris 

Directions: 

 
9. Once the axle is tight, the 5/16 x 2 1/4 bolts can be tightened (image 6). 

10. Install disc rotor to braking wheel using (6) 5mm torx screws (image 7). 

11. Place wheel assembly over axle and spin wheel to check for any          

interference.  Adjust spindle accordingly.  Use 1/2-20 locknut to secure 

wheel (image 8). 

12. Place caliper over disc and secure with 6mm bolts and washers to the 

caliper adapter plate with 5mm allen wrench (image 9). 

13.  The 6mm caliper bolts also provide some of the adjustment to the     

caliper.  Refer to the ñHayesò instruction manual for adjusting the      

caliper.  There should be no noise between the rotor disc and caliper 

pads. 

14.  Attach locking levers to the push handles with the locking button facing 

outward.  Be sure the handle is far enough back to allow the cable to 

bend without kinking.  Use razor to cut back foam grip to allow for this 

(image 10). 

Image 6 

Image 7 

Image 8 

Image 9 Image 10 



22  

User Inspired Designs Since 1990 

Accessible Designs, Inc.  Ë  401 Isom Road, Suite 520  Ë  San Antonio, Texas 78216  USA 

p: 210.341.0008  Ë  f: 210.341.0009  Ë  t: 888.684.2234  Ë  e: cs@adirides.com 

Direct Mount Para Lever Disc Brake  

Installation for the Quickie Iris 

Directions: 

 
15. Tighten handle with 5mm wrench (image 11). 

16. Attack cable end to brake lever (image 12) and fit through slot in lever adjuster 

when lined up. 

17. Determine cable housing length and best possible routing from lever to caliper.  

Keep in mind all possible positions of the chair (ie. tilting, folding, etc.) to 

avoid stretching or kinking of the cables.  Use cable ties to hold housing into 

secure positions (images 13 and 14). 

18. Attach cable end to clamp on caliper, removing all slack in the cable.  Tighten 

with 5mm allen wrench. 

19. Cut off excess cable and cap with cable ends by lightly crimping to avoid   

fraying of the cable ends. 

20. Be sure that brakes full lock wheels when button on handle is depressed.    

Adjust cable tension on the handle or adjustments on caliper to achieve full 

lock. 

Image 6 

Image 11 

Image 12 

Image 13 Image 14 


